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Multiple Choice Question (1-6)

U1 |19 & Tyl § |9 98l Adeu & gud -
Choose the Correct option in the following questions

(i) SRTENIBRI 71 3RS AT §RT IR RPre &1 yarT fdar —

(a1) are fdare =g (@) sfie™ & a7 B

(W) fewol =g (8) Fida IR H-A Tq (
Historians used the records prepared by the British for

(a) Debate (b) Study of history.

(c) Comments (d) report preparation

(i) BIST AT I JEJeTdT bl —

(31) HERTOM SHTARTE—II @) Harg STafiE

() AERIUT AR (8) <ToTT goiA g (
Who chaired Hurda Conference-

(a) MaharanalagatSuigh Il Jai Singh (b) Sawai Ja

(e) MaharanaAbhay Singh (d) Raja Durjan Singh

(iii) TY 2011 H AR HRA DI ST & —
(31) 100 BRI (@) 121 BRS
(W) 141 RIS () 145 TRIS (
The population of India according to Census 2011 is
(a) 100 crore (b) 121 Crore (c) 141 Crore (d) 145 Crore



(iv) Ted &1 et § —
(&N BT 3T
(W) [AaRI &1 eH-—ue™
Tourism Means
(a) Import of goods
(c) To exchange views

(v) AT =T B 39 & —

(31) BT I
() STHPdT

@) |amE &1 faia
() w1 =g I

(b) Export of goods
(d) To travel

(&) BT ARL BRI

() SWRIgd |41

Which of the following is necessary for social justice.

(a) To make laws
(e) Public Consciousness

(b) Law enforcement
(d) All of the above.

(vi) "9 gEmel, ST Tl AT BT SEXT AT ©
R IUNNIESERY

(37) P=aT YT EAT DI ]

() Hrdoe eareral &1 i

(1) arferant fRream &1

PIRSIEE]

Which one of the following is an objetive of "Beti Bachas BetiPadhao
(b) women empowerment

(d) Promotion of girl child education

(a) To stop female foeticide
(c) Construction of public toilets.

Lug — §
Section - B

SAfCTTgRICHS T2

Very Short Answer Type Questions

o2 o B AT BT —
(i) MR FEddm
(if) A R
(iii) TeTaTer fRre
(iv) 91t fdarg
Match the following-
(i) Independence of India
(ii) Jhum cultivation
(iii) Oriental Education
(iv) Child marriage

(a) BT 3R STeTmaN
(b) BT JORTE
(c) 1947

(d) A¥Rd AT

(a) cut and burn

(b) legal offence

(c) 1947

(d) Sanskrit Language

1x4=4



Raa vl &7 g #ifsg —

Fill in the blanks.

T3 W & TIAR WRBR & 3T FRIIBT, oo L R gl 2
According to Constitution, the organs of the government are the and the Legislature,
and the
YII—4 UTH TATIT BT T oo BIAT B | UTH UARIT BT BRIDTH oo
I BT % | 2
Head of Gram Panchayat is .Tenure of a Gram Panchayat is years.
TIT—5 UTHAD FATIT oo H TG BT B | oo BIEARED
TATE BT SGIERT & | 2
Natural resources are obtained from . is an example of natural
resource.
TeI—6 JMfaardl oeg &7 31ef =T A H e sxd g1 2
The is meaning of the word tribal is They live in
JeI—7 STRIRET fAaROT BT L0 S PHREB JATIT B % | 2
and affects the distribution of population.
Yis—Y
Section-C

CE[cXTcHD YR

Short Answer Type Questions

= 9ol & SR SIfvTu—
Answer the following questions

11/2+11/2 =3

Y34—8

(i) AT &7 gg fb—TdT & Hey gan ?
Between whom was the battle of Plassey fought ?

FEUIR/ANIS = oottt ettt s bbb s s ss s E s ssRA R8s e RS E e RR ettt

1o ﬁwﬁqﬁ ...................... Hi‘aﬁw@q .................................... . aﬁ:{_aﬁqqﬂ%ﬁ? ..........................

Which were the prevalent economic activities in tribal groups before the 19th Century ?




12

qe9—9 1" +1"=3
(i) gregarel e & wHgd fag™l @ 9 daey ?
Name the scholars who supported oriental education.
RTINS 27X L3
(i) 17 9T 2CTea] & ARG Gl Gl DI DIg <l fAudd garsd ?
Mention any two features of Indian cotton clothes of 17" century.
RTINS 27X L3t U
Y910 1" +1"=3

(i) 1857 ®I Bifd & T HROT o ?
What were the reasons of 1857 revolution ?
IS TR Y 0 L3OO

" wﬁﬁ ............ q@ﬂw .................. ﬁ? .................................................................................................................

Why Permanent settlement system failed?

gea—11 IR WIRETT Holl Aol R A5dqel 28?2 Bl & IR URORFTT ol & SETex0T QIfTg?
2+1=3
Why non-conventional sources of energy are important ? Give any two examples of non-
conventional sources of energy.



TeI—12 BV A AT T A &7 B A UG Plg <l Saral & AW gy ? 2+1=3

What do you any mean by agriculture? Name any two agricultural products.
TCUIN/ANST(1)  orerreeeeeeeese e e es st es et s e84 8 82848288 E bt

YI9—13 IR &I JaRART BT g9Tfad BT dTed HRBI BT FoiF HIfTT ? 3

Describe the factors affecting location of Industries.

11/2+11/2 =3

qI—14
(i) IRPR gRT FAMId HIg &I HY AT & T foTRay ?

Name any two schemes related to agriculture run by Government.
LR Y T ) TP

(i) ISR & U g8< SN & IGERY STy ?
Give examples of major large scale industries of Rajasthan.

1/2 12
1 =

U1—15 +1
(i) ISR & g1 ! GReT B 9T Y&l fhd S oF 2

What measures were taken for the safety of forts in Rajasthan.



(i) ¥ ORI H ST 89cd gdT oI @ 31UET HH | RO Bl T HIfTY ?
The population density of Western Rajasthan is less than that of eastern Rajasthan. explains it's
reasons.

Y716
(i) ETHRRYSTT W S 9T FHS © 2

What do you mean by Secularism?

(i) ¥ac=l =RATferdT | T ae § P

What is meant by Independent Judiciary?

17 1741 =3

(i) WRPR 5 ISR | AHINTG I B UIded <dl 87 $Ig & SGE0T 4oy ?
How does Government promotes Social Justice? Give any two examples.

i gmaﬁ—a\—,rﬁmsﬁaﬁ—gaﬁ .............. ? .....................................................

Mention any two public facilities provided by the Government to the citizens.



172 1/2
1 =

U21—18 +1 3

(i) STATHIUT BFAT & FeH H AT IRPR R 59 JHR A TG a1 FAhell @ 7

In the Context of unpopular laws, how can the public put pressure on the Government?

. mmﬁwﬂaﬁ ................. aﬂ ................................... ? ............................................................................................

Analyse the role of Parliament in Democracy.

JI—19 oRAE & dqHfa ¥ 9 {7et &1 9Ry 3
(i) PIET (i) TR (iii) AP

Locate the following districts in the map of Rajasthan.

(i) Kota (ii) Dungarpur (iii) Sikar
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Ug—g
Section -D

Je9—20 3MM&Hal fAGIE &1 guiq U+ Iea] § PHITT ? 6
Describe ‘Auwa revolution’ in your words?
37e7dT OR
1857 BT Hifd BT ITHIA] B HRUN BT guiF BT ?

Describe the reasons of failure of 1857 revolution?

TeI—21 IR B g H Yiord &1 T o1 auid HIfg ? 6
Describe the role of Police in crime Investigation.
3dT OR
I YoTTell ® fAwer garE | oy R’ wEe ® 2

What do you mean by fair trial in Judicial System?



Tei—22 ST WRET0 & UM qargd ? 6
Explain the measures Soil Conservation.
34T OR
gl W R A 7? fRARYdes FHssd ?
What are the benefits of Forests? Describe in detail.




Ye—23 SIFRTE AT | AT 91 A & 7 [ORR b awesy ? 6
What do you mean by Mass Nationalism? Explain in detail.
3dT OR
ARG & Al FITH H HSIAT T BT JAdT B faaa=r Hifsg ?

Discuss the role of Mahatma Gandhi in Freedom Struggle of India.




